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Answers

Ex. 212

1. 803

2. 953

3. 310

4. 96

5. 100

6. 704

7. 419

8. 943

9. 772

10. 716

11. 353

Use addition strategies with place value to solve.

Ex) 638 - 426 = 212

8 - 6 = 2

30 - 20 = 10

600 - 400 = 200

212

1) 661 + 142 = 803

1 + 2 = 3

60 + 40 = 100

600 + 100 = 700

803

2) 674 + 279 = 953

4 + 9 = 13

70 + 70 = 140

600 + 200 = 800

953

3) 801 - 491 = 310

1 - 1 = 0

0 - 90 = -90

800 - 400 = 400

310

4) 636 - 540 = 96

6 - 0 = 6

30 - 40 = -10

600 - 500 = 100

96

5) 519 - 419 = 100

9 - 9 = 0
10 - 10 = 0

500 - 400 = 100

100

6) 544 + 160 = 704

4 + 0 = 4

40 + 60 = 100

500 + 100 = 600

704

7) 913 - 494 = 419

3 - 4 = -1

10 - 90 = -80

900 - 400 = 500

419

8) 74 + 869 = 943

4 + 9 = 13

70 + 60 = 130

0 + 800 = 800

943

9) 461 + 311 = 772

1 + 1 = 2

60 + 10 = 70

400 + 300 = 700

772

10) 494 + 222 = 716

4 + 2 = 6

90 + 20 = 110

400 + 200 = 600

716

11) 81 + 272 = 353

1 + 2 = 3

80 + 70 = 150

0 + 200 = 200

353
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